

40.

$$\frac{1 - \cos 2x}{\sin 2x}$$

De exercício 39 temos:

$$\sin 2x = \frac{2 \operatorname{tg} x}{1 + \operatorname{tg}^2 x}$$

$$\cos 2x = \frac{1 - \operatorname{tg}^2 x}{1 + \operatorname{tg}^2 x}$$

Dev

$$\frac{1 - \cos 2x}{\sin 2x} = \frac{1 - \frac{1 - \operatorname{tg}^2 x}{1 + \operatorname{tg}^2 x}}{\frac{2 \operatorname{tg} x}{1 + \operatorname{tg}^2 x}}$$

$$= \frac{\frac{2 \operatorname{tg}^2 x}{1 + \operatorname{tg}^2 x}}{\frac{2 \operatorname{tg} x}{1 + \operatorname{tg}^2 x}}$$

$$= \frac{2 \operatorname{tg}^2 x}{2 \operatorname{tg} x} = \operatorname{tg} x$$

$$\frac{1 - \cos 2x}{\sin 2x} = \operatorname{tg} x$$

41.

$$\frac{1 - \operatorname{tg}^2 x}{1 + \operatorname{tg}^2 x}$$

$$\frac{1 - \operatorname{tg}^2 x}{1 + \operatorname{tg}^2 x} = \frac{1 - \frac{\sin^2 x}{\cos^2 x}}{1 + \frac{\sin^2 x}{\cos^2 x}}$$

$$= \frac{\frac{\cos^2 x - \sin^2 x}{\cos^2 x}}{\frac{\cos^2 x + \sin^2 x}{\cos^2 x}}$$

$$= \frac{\cos^2 x - \sin^2 x}{\cos^2 x + \sin^2 x}$$

$$\frac{1 - \operatorname{tg}^2 x}{1 + \operatorname{tg}^2 x} = \cos 2x$$

42. $\cos \theta + \sin \theta = \frac{2}{3}$ (*)

$$\sin 2\theta = 2 \sin \theta \cos \theta$$

De (*):

$$(\cos \theta + \sin \theta)^2 = \frac{4}{9}$$

$$\cos^2 \theta + 2 \cos \theta \sin \theta + \sin^2 \theta = \frac{4}{9}$$

$$1 + 2 \cos \theta \sin \theta = \frac{4}{9}$$

$$2 \cos \theta \sin \theta = \frac{4}{9} - 1 = -\frac{5}{9}$$